~ N Ty S ey srr
TIS0MIAIE I H AR L AR 2 TA S 2 DRlpacEr— R ) TR
SER264ETH13H (H) Kaa—F 14120004
TIEFRA AR —Y o 7 —fE FEi msa—F 121010
fiEH 107 2f°L. 3 AT 57 601 THL 8L
N 4 425 7100m HER B 4) 14.99 | 5F Z=EfE ) 15.35 | A BRI @ 15.39 | Al FoF (@) 15.62 | AT HEME (4 15.63 | MR ¥EFH (4) 15.74 | BEEF FlFn (4) 15.76 |AHL BEER (4) 15.93
SLHTAY =10 5T (-1.8) | BEF/INRE (-1.8) | rtwnr=y—1rr57 (-1.8) |pErrv—1rs37 (-1.8) MAC (-1.8) |Hmr 77 (-1.8) | HER/ IR (-1.8) i@ tr 57 (-1.8)
SN 5 45 71 00m gy (5) 14.30 | HIF K (B) 14.30 [ A @WE (B) 14.44 [M@{C Bk (B)  14.47 | w4y (5) 14.50 | 4B HEF (5) 15.03 | BRL FE (5) 15.04
WY 2 =7 (2. 6) |tz mansk *TK (2. 6) | Bm7 2y —} 2 57 (-2.6) |[tEEEy 57 (-2.6) [mtEmEEr 57 (-2.6) |mwrzy—trr57 (-2.6) |mp¥#r 27 (-2.6)
IV 6 45 71 00m S %% (6) 12.97 | /i SREE (6) 13.25 | ATEF Gk (6) 13.26 | A EA (6) 13.40 | BF B (6) 13.49 | WA #hkE (6) 13.61 |MiE EKRES (6) 13.69 | FKA Fik (6) 13.71
Mo 27 (=1.0) [memmuseiek (-1.0) [ E/NFER (-1.0) [mewoazrimrrzs (-1.0) | RAENFZ (-1.0) [ B/ER (-1.0) | F—2HR (=1.0) [wmsnonvazruisirss (-1.0)
N5 -1000m er R P (6) 3:01. 544 4B (6) 3:01.98( JEF| fEA (6) 3:05.25| Py M (6) wwmosal KB Fifg (6) @mwsoesa| KE M3} (6) 3:06.99| A F1 (6) 3:07.06[ FJR HEE (6) 3:08.25
I\ RN FARNFEREA C 15 BB/ INBRAR N W 77 EPT LR R BIARNFERAC HEB 2 =TI E) 57
N5 F-80mH EA O KE 6) 12.72 | PHH iz; (6) 12.89 | ZHE K& (6) 13.05 | &M % (6) 13.18 | ZeE Wy (6) 13.19 | tAh —Hf (6) 13.43 | A FIEE (6) 13.75 | #E)E AR (6) 13.76
T AL 0T AT S~ -1.5) | mRZ 77 (-1.5) | Rlg/NERg (-1.5) |emrzv—1rs57 (-1.5) [ANEREAC (-1.5) |#rF—v2s57 (-1.5) [HrA/bhFEREAC (-1.5) |7vewrro—tr57 (-1.5)
fistelE sy 57 51.82 |mimavrssrars- 53.28 |mmessa=rss7 54,79 |Bedf 7400/ 4 54.83 |#krkels o7 54.93 |##afE s 57 55.12 |#mak—vs357 55. 34 ACILIER 57.07
Rl 222 (6) Al B (6) A gms (5) MR sk (6) WoOERE () A () Yeg k2 (6) ®IE K (6)
/N A-4X100mR | (LFE %28 (6) R A (6) AR M (6) Kk %2} (6) - A () I KB (6) erx R i (6) AR TR (6)
0 B (6) B S (6) il wS (6) g 2 (6) M s (6) K& AR (6) i HRK (6) gk Ak ()
R EE (6) Ay IR (6) F 9k (6) HH AL (6) ‘BN #ivR (6) Wl BK (6) = ik (6) AR EE (6)
JINEEEE o B w2 (6) 1m34 | AF A (6) Im34 | JEK f&F (6)  1m34 WA 2 (6) 1m3l EEF OB (6)  Im31 | EEE AUE (6)  Im28 |7 AR f#EE (6)  Im25 |7 #H #EZ () 1m25
FIANERAC WY 77 BB LN R TRHR T /N Wi 77 Wkwa=77 29 =257 J\FEAC Ry 77
PN ke Y N T (6)  AmTT  |rerrvror veorx (6) 4mb3 | kI fRVE (6)  4md6 | FRA BB (6)  4m43 | NEE EJHE (6)  4md0 | BEM ARE (6)  4m30 | (LA EKE (6) 4m29 | RS REE (6)  4m26
e Ly 57 (0.0) |@EEr L/ NErg (+2.3) |wamva=rmes v (1. 1) [mravrorrnzs- (+1. 4) A FREAC (+1. 1) | B/ +0.7) |RFVE 2 77 (+0.3) |mifke by 57 (+1.6)
sy poeni| D ML (6)  69m21 | gnA K (6) 65m74 | mUMR SR (6) 63m83 | LA X (6) 63m20 | FWER = (6) b9m65 | MR MR (5) 56m75 | AR HTA (6) 55m95 | LIF A (6) 53m24
AT A= 5T WRR o 77 T FRE=r 57 Kkl 57 TR IR T- 50/ wigs 77 TR TS0/
N 4 4 L 100 ER ERE (@) 15.22 | B OB (@) 15.48 |[/NK®E HZE (4) 15.50 | fERE ZEME (4) 15.71 | ROK O EREEk (1) 15.81 | Kok A& (4) 15.83 | Bt mek (4) 15.86 [ZRA ook (4) 16,02
BT AV THT = GR (=2. 0) | = B (L /N5 A5 (=2.0) |mrrvrorrnr— (-2.0) |Hxwmr 77 (=2.0) ima kids (-2.0) ima kids (-2.0) | BER/NFERE (-2.0) | BEEU/NERE (-2.0)
S 5 442 7-100m AHE BHFE GB) 14.69 | =N AE (B) 14.78 | & B (G) 16.13 | 84K EAE (B) 15.26 | /Ml Kde (5) 15.27 |Ewr oz (5) 15.30 | HESE E|E O(5) 15.41 | BE T (B) 15.83
T ALF 50T HT (-2.2) |y =2=7 (=2. 2) | mirrisemsrras =t (=2.2) | B 7urss fE s (-2.2) F— A (-2.2) |k Ly 57 (-2.2) | W 77 (-2.2) |mmr=v—1rs57 (-2.2)
SN 6 42 F100m Perx 20 (6) 13.74 |2 um %@ (6) 13.91 [2 JIE #HE (6) 13.91 | KK FBE (6) 14.00 | WL+ 6) 14.23 | )l #E  (6) 14.27 | H)Il ik (6) 14.45 | 15 FEE (6) 14.56
ima kids (-0.6) |HRIBY 77 (-0.6) |#Eessmrrs7 (-0.6) |HRE=r57 (0. 6) |etrarsyrrnr— (-0.6) |mswva=rizLrs7 (=0.6) |wzvazrrav—rs57 (=0. 6) | sttt v = erte (-0.6)
SN A2 F1000m EH =L (6) 3:12.77 ﬁﬁz\z‘ (6) 3:15.20| BE EA (5) 3:15.40|KME KHFE (6) 3:17.41| 48 ®HE (6) 3:18. 09[4 HAr (6) 3:18. 76|k EZ= (6) 3:19.02| 7 H fEAE (6) 3:19.15
F— L FH Y 57 WEY2=T R 5T WEELEI T 5T IS BRIl 25 HRAR—Y 57 FIANFER C FIARNFKR C
N 4 780 m ARG BT (6) 14.05 e &3 (6) 14.05 | miAk EE (6) 14.10 |@HHiZn EME (6) 14.30 | EJII TAHL (6) 14.35 | BB EI¥E (6) 14.42 R VWEE (6) 14.69 | ME FEH (6) 14.81
15BN (-2.8) |FANFRRC (-2.8) ima kids (-2.8) |y 77 (-2.8) |#ktbelr 57 (-2.8) | BE/INFRE (=2. 8) | mttitsrt vz L1 (2. 8) |msrimmtcotirte (-2.8)
PuT A= 53.54 |etrairosrnre- 54,23 |fstEkels 57 54,96 |miEy =727 56.78 | = =7 57.37 | =r57 57.39 | s 77 57.74 | l-r 57 57.74
®HF = (6) 7 KR (6) I RN (6) B EfE (6) iR Ak (6) K MmE o (6) B K (6) I Bkl (6)
INFALF-AX100mR | AT 2 (6) SR E(6) e X 6 B BE (6) R B3R (6) s ThE (6) ) () LI FHExot (6)
8 kZ  (6) R M (6) FH o ¥xT (6) M EE (6) R HE (6) Yl #iVbE (6) ks #REE (5) Kig 1E%E (6)
T L (6) ER O FAE. B (6) WE A (6) AR MAF& (6) ER)I ZEE (6) wH e (6) e ER (6)
N o P BKIR (6)  Im29 [0 AL (6)  Im26 | KE AKF (6) 1m26 |WEE 20A (6)  1m23 | AT A (6)  1m23 | B HwE (6) 1m23 | BRE KT (6)  Im20 [7HEEE ELR 6)  1m20
kT Er 5 IR 5 - —E\/J\’_%"BE HEGSA A K AA— 157 WA 2= TWES T RIREWE Y 2 v BHTALF v 2T HT I EET AL F 9 2 T BT L —
VR L TR R *ESE 6) 4md2 | A B 6) 400 | EiE ?EIE.’{ (6) 4m23 | /bR E (6)  4m22 [ EWN O OIRA (6)  4ml9 | ARE M (6) 4Aml7 |BHE  FEE 6) 4ml2 | EHiE VEE (6)  4mll
HEy 57 (+1.3) |k tr 77 +1.8) | Mo o7 (+2.5) |Wde&TE/NEEL +3.1) [#kFbetr 57 (+#3. 4) |wrxvrorrnrs- (+2.8) | J\FEAC (+1.9) [rrpErRs 57 (+0. 8)
INEE A OB (6) 53m98 | K L3E (6) 50m60 | EEOBRAC (6) 49m80 | ¥ELR =W (B) 4Tm7h | BEA A (6) 46m99 |E BT (6) 45m87 | ANWA WER  (6) 44m03 |4k EHME (6) 43mb5
Y 7 M=V | KRk R 5 TR s 77 1 JLE /N Hiis 77 R /N Wiy 77 22T 77
JEIEB80mH: 15 X 0. 700m  (/J-n W7.00m AX— R H1IER 13m 9BHDH7{=yVa 1lm
FHE A4 wER(NTvr)  8ARNMET (74— 1K) kT A KA




